[RERAZEDRE]
7 RARRRRE

FEEIAZE (AR b BEREE R R - b0, UTRC, ) Tik. 100 05M oG 1 9 ET,
BELD 1EEED LE L, [B4%, BERE2]

HAR IAFHAIRERONR

B 3 F DO BIE & H
2048 | 214F | ML | HERRER | 204E | 214F | MR R | 204F | 214F ) B | R
1{EMLE
0 0 0 0. 0% 0 0 0 0. 0% 0 0 0 0. 0%
5FFAULE 1{EMKRE

1 5 4i 400, 0% 0 0 0 0. 0% 1 5 4} 400. 0%

1FFMEULE 5FH MR
15 10 -5/ -33.3% 4 4 0 0. 0% 19 14 -5 -26.3%

AEE (1 FFHELL) ,

16 15 -1i  -6.3% 4 4 0 0. 0% 20 19 -1, -5.0%

50 0FMEE 1FFAERM
4 6 20 50.0% 4 8 4i 100, 0% 8 14 6 75.0%

1005MLE 500 FHKR
20 25 51 25.0% 59 46 -131 -22.0% 79 71 -8 -10.1%

10 0 FHEKM
83 72 -11} -13.3% 612 606 -6, -1.0% 695 678 171 -2.4%

AEE (1 FHHEER
107 103 -4;  -3.7% 675 660 -151  -2.2% 782 763 -19i  -2.4%
= Ha

123 118 -5 -4.1% 679 664 -150  -2.2% 802 782 -20i  -2.5%




